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Questions

Asexual reproduction in yeast occurs by.

One of the following retrodictive cells structures are asexual

Unicellular yeasts reproduce by.

In fungi spores are produced inside the reproductive structure called.

Which one is an example of foliose lichens.

Parasitic fungi directly absorb nutrients from living host by

Parmella is an example of.

The predatory oyster mushroom paralyses the following organisms.

The fungi which obtain their food from organic matter are called.

50% or so are found as lichens.

Fungi can tolerate wide range of pH from.

The lichen which are leaf like are called.

Most of the visible part of lichen is.

Example of soil dwelling carnivorous fungus is

The are ecologically important as bio indicators of air pollution.

Answers Choice

A. Conidia
. Fragmentation
. Budding
. Resting spores

. Basidiospores
. Conidia

. Zygospores

. Ascospores

. Spores

. Binary fission

. Budding

. Fragmentation

. Conidia
sporangia
Ascocarps
Basida

Ramalina
Bacidia
Lecanora
Permelia

Haustoria
Roots
Rhizoids
Gametangia

Fruticose lichen
Foliose lichen
Crustose lichen
Moss lichen

Nematodes
Algae
Bacteria
Snails

Saprotophs
Autotrophs
Heterotrophs
Parasites

Ascomycota
Basidiomycota
Zygomycotic

. Deuteromycete

. Fruticose
Crustose
Foliose

All above

Fungi
Algae
Bacteria
Roots

. Arthrobotrys

. Pleuretus
. Armiillaria
. Pencillum

Lichens

. Yeast

C. Viruses

D. Mycorrhizae
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Lichens are very good bio indicators of.

The cell wall of fungus contains.

B. Soil quality
C. Water quality
D. Mineral

A. Cellulose

C. Calcium carbonate
D. None of these



